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Please make sure that the printed pages in this
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The Code No. on the top of the question paper
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page of the answer-book.
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Before beginning to answer a question, its Serial

Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.
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Candidates must write their Roll Number on the

question paper.
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Before answering the question, ensure that you

have been supplied the correct and complete

question paper, no claim in this regard, will be

entertained after examination.
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General Instructions :
. (ij All questions are compulsory.

(ii) There are 21 questions in all.

(iii) Question No. 1 is objective type questions.
It consists of fourteen (i-xiv) questions of 1

mark each.
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(iv) Question numbers 2 to 11 are Very Short
Answer Type Questions and carry 2 marks
each.

(v) Question numbers 12 to 18 are Short
Answer Type Questions and carry 3 marks
each.

(vi) Question numbers 19 to 21 are Long
Answer Type Questions and carry S marks
each.

(vii) There is no overall choice. However,
internal choice is given in all three long
answer type questions and carry 5 marks
each. You have to attempt only one of the
given choice is such questions.

(viii)Use of calculators is not permitted. If
required, you may use logarithmic tables.

TF F T r Bod & FEgdd 9 H O AR
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A particle completes semicircular path of
radius r. The ratio of distance travelled and

displacement of particle will be :

’ n
(a) >
(b) o
3n
(c) "y
(d) =
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arel H B 1

(@) P—B (b) WM

(c) o~ (d) g

The following particles are moving with

same velocity. The particle with maximum

momentum is :
(a)/ f—-particle (b) proton

(c) a-particle (d) neutron
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If on applying force F, body move with
velocity v, then power will be ...........

asa—aﬂq;ﬂfamﬁvﬁ?lw%gvmfﬁaa%%ﬁ
g 1
(a) FrTE T

(c) dcd

(d) wHd

The product of moment of inertia and
angular acceleration is called :

(a) Angular momentum
fb)/d Torque
(¢) Force
(d) Work -
goft & 3% T PRl fave A R ¥ .
@ S |
(b) I
(c) gaf W & &igr FHA

fagad @1 W § 9T B
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The weight of a body at the centre of the
carth is :

(a) Zero

(b) Infinite

(c) Slightly less than at the poles
(d) Slightly less than at the equator

ﬁFrﬁéumﬁmembmﬁ%: 1

(@) I
(b) e

(c) IRFGH-Alee

(d) feel-ame

Which of the following is not unit of energy ?
(a) Joule

(b) 'Calorie

(c) Electron-volt

(d) Kilo-watt

aft fRelt R & o O g R R o,

- D! AT Fol oo g1 s 1

When the momentum of body is increased

by three times, its K.E becomes .......; s

P. TgO.
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A planet is revolving round the sun as
shown in figure :
D
B A
C

At which point the veloci

; ty of .the planet is
maximum ?
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Write the value of Escape velocity of body
from Earth's surface. |

Reg T @ HROT B9 H g IS S &
H FAAH T H A B § 7 1

By virtue of which property does the free
surface of a liquid try to keep its area
minimum ?

ﬁaﬁraﬁgéaﬂﬁagmwaﬁam%ﬁﬁ
o farew

Write down the formula for the speed of
transverse waves in a stretched string.

(xu)qm?m@rw:ri’éﬁ%aﬂqr{qﬁAB,Bcaw
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A gas is carried through the path AB, BC
and CA according to the adjoining figure.
What is the net work done in the whole

cycle ?
A
A
4P, [~ "
Pressure Y
Py bm= N
‘B = e
| 1 >
Vi 3vi

—> Volume —>

(xiii) TGS & fra FEg g o=Re & @l
TfreTen Faw & TR 7 1

Which law of thermodynamics first
introduced the concept of Internal Energy ?

(xiv) g fradis 1 SI AEE /18 7 1
What is SI unit of Gas Constant ?

qﬁﬁéﬁﬁﬁavﬁuﬂzagfg €l a b T c B
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a’b?

o2

percentage errors in the measurements of a, b
and c are 1%, 2% and 3% respectively, find the
maximum percentage crror in the measurement

of physical quantity P.

and the

If a physical quantity is P =

. UF %] U MEd @Rer | el 81 g9 a5 B M

HAG-AT T THE-RYIY STRE S5 2
An object is moving with a constant acceleration.
Draw time-velocity and time displacement
graphs for the object.

gﬁﬂﬁwamﬁ%?aqﬁﬁ@ﬂﬁwmwaﬁmtﬁér
? 2

What do you mean by impulse ? Is impulse a
scalar or a vector quantity.

Frsy gedl & ITX T ¢ 2

() o fed a&] W P &R W@ T B RET
@, & 0 ge oMy & Fh awg fawm A & erl 7

(i) e & faci Frm @ aike &9 fafe

Give answers to the following questions :

(i) If the net force acting on a body be zero
then will the body remain necessarily 1in
‘rest position.

(i) Write second law of motion in vector form.
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What is a Geo-stationary Satellite. Writc its one
usc.
7.3&?{aa@rwaﬁq?g<ﬁﬂqmﬂr'g'%qmﬁ
qRade @ A Sl 2
Discuss the variation of acceleration duc to
gravity 'g' on going above the surface Ql' carth.

8. BT A Y Pea § 7 TR as S AL 2
What is Second's Pendulum  ? Determine its
length.

b./mfﬂ T & & SarEdl el =5
Give two examples of isothermal process.

10. 3REHE q T9H F awd § ? Rl e & 29 B
I+ @ g feiEu o
What do you understand by capillarity ? Write
down the formula for the rise of liquid in a
capillary tube.

—r!
11. ‘GO THA oI B AR ST o A iR 2
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Define "coefficient of thermal conductivity.. snd
write its unit.
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12. TF Fo7 &fcel aa & gaig Fn § uReHr &% @ 8 39
W @M adl A= a0 (F), $7 b &9 (m) g Dl
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A particle is revolving in circular orbit in a
horizontal plane. The centripetal force (F) acting
on it depends upon the mass (m), radius (r) of
the circle and speed (v) of the particle. Obtain
the formula for the centripetal force on it by the
mecthod of dimensional analysis.

13. e ¥ & e Rk 3

Write the Laws of Limiting-friction.

Wmaﬁwwﬁa@f%wm%?uﬁiﬁmw
I IR 3
What do you mean by conservative and non-
conservative forces ? Give one example of each.

15/ﬁvﬁﬂﬂaﬂwwﬁwmlaﬁﬁﬁﬁwm
a1 W Hife| 3

Write the Law of conservation of angular
momentum. State it clearly by giving any one
cxample.

%mmmﬁa%?mmm%m
g9 g d § gy [rfEq 3ad ram el ® 7 3
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What is adiabatic change ? Write the relation
between pressure and volume of an ideal gas for
an adiabatic change. What is the meaning of r.

Gt erpri R @ aReee U 3
Writc down the postulates of the Kinetic theory

of gases.

R B a &\ s | g B @ U gaER A
HehT (b far T 81 §9 WK §1 g B8R @
3% 0 R % 3w ¥ 4 30 W Y omRe R 3
EEMM % P REfd ST i) | 5

From a uniform disc of radius R, a circular disc

. K 2
of radius E 1s cut out. The centre of the

‘circular cut i1s at -123 from the centre of the

original disc. Locate the centre of mass of the
resulting flat body.

A Sad 7T Hd g¢ Ave &l S ot St Refes
STl T TR Sl B Zoih Wl i 5.

Find expression for kinetic energy, potential

energy and total energy of oscillation of g body
executing simple harmonic motion.
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What is meant by stationary wave ? Prove that
in an open organ pipe, both odd and even
harmonics are produced.

WA TER 0E (o), 89 JER O (B) T E
TR OIS (y) § Tre i i) 5

Establish relation between coefficient of linear

expansion(a), coefficient of superficial
~expansion(f), and coefficient of volume

expansion (y).

AT
OR

TN & JHY o ok R &

State and prove Bernoulli's theorem.

7 4 AR A d B R wINmR aqge @ @
A~ el @ frefd R s ¥, @ R fifwm
TR & GRAT 5

R=+vA2 + B2 + 2AB cos0

Sel A 9 B %9 AR A 9 B & qRer § 9 393
e HT 0 B

P 1 0.
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If two vectors A and B represent two
adjacent sides of parallelogram, then prove that,

magnitude of resultant

R=+A2+ B2 + 2ABcos0

Where A and B respectively, magnitude of
A and B and 0 is the angle between them.

Y[
OR

Y Ma W Y R THRd & ! Uh NEY g
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What do you understand by the term projectile
motion. If a projectile is projected at an angle 0
from the horizontal with velocity u in the

gravitational field, prove that the path of the
projectile will be a parabola.




